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Summative Assessment — Term 2

Maths — 2024 - 2025
Class = 1

Name : Marks : 60

Section : ' Time : 2 Hours

In each question, sub-division (i), (li) & (iii) carries 2 marks.

I. Answer the following questions. 10x6=60
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() Tick (v’) the basic shape similar to the given object.
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(iii) How many rectangles are there in the picture?
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(i) Count and write the number of balls.
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()] Count the number of given objocta and write it's before and after number.
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(ii) Write the number in between.
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(iii) Write the missing numbers. Bl 6 8 11 14

(i) Circle the bigger number. 15 , 19

(i) Choose the number bigger than the number of given objects.
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a) 12 b) 13 c) 14 d) 15

(i) Choose the number smaller than the number of given objects.
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a) 17 b) 18 | ¢) 19 d) 20
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6. (i) On adding 7 with 8, which number do you get?

a) 14 b) 15 c) 16 d) 17
(ii) On adding 5 with 6, which number do you get?

a)9 b) 10 c) 11 d) 12
(iii) On adding 4 with 9, which number do you get?

a)l2 b) 13 c) 14 d) 15

7. Complete the addition statement.

0 10+D215 (II)D+6=18 (iii)5+D=12

8. Complete the number pattern.
() 10, 12, 14,

ap 15, 13,11,

(i) 3, 6.9,
9. (I) Tick (v) the heaviest object.
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(ii) Tick (v") the longer object.
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10. Tick (v") the appropriate measure for measuring the given objects.
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